Y2558 2AHMERIRR

BFEI—-F MEFRS HEN S B 8 ¥ BE B/ 8 @B
242039 ZER FEH S HEHKXISER | of 0 PR« HHIRPTE AT 12
FESKKIGER | of 0 FTESERE (RTSZ2ET, ) nf 17,110
EREXSKSHAD (H26.1.157) 131,670 A S, AERRAD | A 2,234 BaAS = 1
' = REGKRAER | 696,000 R i 6
(DEBKRICHDSBED) ’ '%ﬁﬁg
REHKAD A 0 ’ SEMSH | A 18
ﬁﬁ!%ﬁﬁ?](ﬁﬁ%’ﬁ (DEBKRICHONDSBED)
E o o & T REPKKAER | 0 BeIREE B o 3
(DEBKRICHODSBED)
RIER m 871,815 D | A 0 B @ 3
s ] of 4,671,702 A R REFKRGER | 0 HES - PRAR SEBRSY | A 20
011, (BBEKCHDBED)
) BEIAL L 217 - RN o | A 0 ER & 16
&2 S HEKAEER FEKXEER NEEE
@ Z0ft i 0 ittt uf 0 SERS® | A 2
nBE
- HETAITL t 1,266,532 T REmaAD | A 0 — L it 2
Zott ut 52,700 RERAXATR | 7 0 BEMSS | A 28
s =52 =] 1,030 O3 ="5+« - JSYRREAD A 0 - B =l 0
BEF |55pmpe = = 988 SHMBSCEREAD X 31,603 ggggﬁm sEMES | A 0
RBIER (HETAD m 64,824 — [NV EPTEL AT 13 — S T 6
P
MEIER (HEIA) m 15,999 BEE —BIE IS TN | BFTE (50 0.0 SERSMY A 14
Ly [EEAC A imoos| BR[O o |mEmme (@m0 |ee 0 . B A 0
p— RN K 8,859 SRR | _gemeaves Brm |6 0.0 waEman | A 0
s _, [|mmAo A 131,289 s |PONIES (@FE e 0 sisin B i 6
| S —
FRGEINKSE t 51,737 m=h — BB HES IR | P T 0.4 SERSY A 5
el Es A 89 = g R HEIN T75EE% EPTEL AT 0 Sl AT 2
[ P —gerass| Ao 0 & R-n | —EBESIIES | &R P 1.2 HERSY A 0
¥ AD . TR A 0 s s | PEVAYIZHGE B | @ 0 RREYY—  |mAM @A 3
L ——T 0 b | _memasimes s e 0.0 B & 0
BEOR
REWKAD | A 57873 | | p  |HENESR | HEIIIIER WS @ 0 BROR sEMEN | A 0
HEHKRIGER | of 34,884,000 hBE SIFhEES | BT TI5ERR EFE AT 0 on BRY AT 293
REKRGER | nf 14,570,000 TS KFHEE | THEIN IIMER &P i
,570, . ] 5% EBPE (5l 10 TS nf 18,461
HERRRES | mo 1 @ﬁ::ﬁg Eem |PEINIINER CL S T 1 . 1 R | of 3,475,830
TR
TokEE | 2RTKE RERFNES | 577 1 - By GEER) | of 377,970
HENERGER | of 34,884,000 — i QOB | nof 461,307
i1z
RENBRAER | nf 14,570,000 . B GEE®) | nof 6
REMEREAAC [ A 57,873 2o THBERES ot 635
e =1 I 43,205 ZDMOESE ot 0




